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Guess Paper – 2010
Class – XII
Subject – Economics
MARKS: 100








TIME: 3 HRS.
General instructions:

i.  All questions are compulsory.
ii. Questions 1 -5 and 17-2 are very short answer questions carrying 1 mark. They are to be answered in one sentence each.
iii. Questions 6-10 and 22-26 are short answer questions carrying 3 marks each. Answers to them should not normally exceed 60 words each.
iv. Answers to them should not normally exceed 70 words each.
v. Questions 14-16 and 30-32 are long answer questions of 6 marks each. Questions 11-13 and 27-29 are also short answer questions of 4 marks each. Answers to them should not normally exceed 100 words each.
vi. Answers should be brief and to the point and the above word limits be adhered to as far as possible.
PART- A

1. Define monotonic preference.
2. Firm’s supply curve shows its supply function. True or false?

3. As output increases, AC tends to be closer to AVC. Why?

4. Give the formula to find out elasticity of demand by percentage method.

5. Define indifference curve.

6. Explain the problem of ‘what to produce’ with help of an example.

7. You plan to attend the NCC camp for two months. If you do, you won’t be able to take your usual part time job that pays Rs. 10000 for two months and you won’t be able to live at home for free. The cost of your NCC camp includes: 
Living expenses Rs.2000, Costume and stationary expenses Rs. 3000 and study material Rs. 1000.

Calculate the marginal opportunity cost of joining the NCC camp.

8. State any three factors which influence elasticity of supply.

9. Price of a good falls from 20 to 15 per unit: as a result, its demand rises from 400 to 600 units. Find out price elasticity of demand by percentage method.

10. State the main features of monopoly.
11. Explain producer’s equilibrium in term of total cost and total revenue.

OR

List any four determinants of supply of a commodity.

12. Law of demand must fail if less of a commodity is demanded even when income of the buyer’s rises. Yes or No. Explain why.

13. Draw a marginal revenue curve of a perfectly competitive firm and explain why the marginal revenue of a perfectly competitive firm is always equal to its average revenue?
14. A consumer consumes only two goods. Explain his equilibrium with the help of utility approach.

OR

Explain with the help of diagrams, the effect of following changes on the demand of a commodity:

a. Fall in the price of substitute goods.

b. Fall in income of its buyers.

15. At a given price there is a excess demand for a good. Explain how the equilibrium price will be reached. Use diagram.

16. What is meant by returns to a factor? Using a suitable diagram. Show the situations of increasing and decreasing returns to a factor.

PART – B
17. What do you mean by barter system?
18. What do you mean by aggregate supply?
19. Define open market operations.
20. Define revenue receipts.
21. If MPC = 0.80, what is the value of K?
22. What is government budget? Name two sources of non tax revenue receipts and capital receipts.
23. What is parity value?
24. Money is a dynamic factor. How?
25. Calculate Gross national Disposable income from the following data:
(Rs. In crore)
i. Net current transfers from the rest of the world

100
ii. National income






1600
iii. Consumption of fixed capital




150
iv. Net factor income from abroad




20
v. Net indirect taxes






180
26. Explain ‘banker to the government’ function of central bank.
OR

State the qualitative instruments of credit control.
27. State any three fiscal measures for reducing inflationary gap.

28. At what rate consumption is increasing in the economy when MPS = 0.5, and autonomous consumption is zero. Draw a diagram.

29. What is meant by visible and invisible items in the Balance of Payments account? Give two examples of invisible items.

OR
Explain the components of capital account of balance of payment.
30. Explain the meaning of investment multiplier. What can be its minimum value and why?

OR

What is the relationship between average propensity to consume and marginal propensity to consume? Can the value of APS be negative? If yes, when?

31. Distinguish between domestic product and national product by giving suitable example in support of your answer.

32. From the following data, calculate national income and personal disposable income:
Items 






(Rs. In crore)

i. Profit








1500

ii. Rent 








1300

iii. Income from domestic product accruing to private sector 

3000

iv. Mixed income of self employed 





600

v. Compensation of employees





3000

vi. Reimbursement to the employees for medical expenses

300
vii. Depreciation







200

viii. Excess of factor income to rest of the world over factor income 

From rest of the world






50

ix. Excess of imports over exports





40

x. Corporate profit tax






200

xi. Net retained earnings of private enterprises



150

xii. Interest 








1100

xiii. Net indirect taxes







350

xiv. Direct personal taxes






100
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